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1. f(z) 0 [¢,b) 000000000000000000000000000
(a) f(z)0 (¢,0) 00000000000000f(z)>0,Vz € (a,b) 000 f(x)
0 [ 0000000000000000

(b) f(z) O (a,b) 0 200000000000000f"(x)>0,Vz € (a,b) 000
f(z)0 [0,b) 00000000000D000000f(zx) 000000000
0000000000000

2.000000000

(a) 40000 f(z)=2*-5+52z—1=00000002000000000
000

(b) nO0000 (xlog(l+22)™ 00000
2
(c) 1—Cosx~%, r— 000000000 f(x),9(z) - 0,z 00000

flz)~g(x),r—>000000000000

3. flx)=sin22 0 2o=300003000000000000020000000
gbbouogbbbboodad zo0bbbouodgbbbooon

4. f(x)=e* 0000

() 4000000000000000
(b) (1) 00000000000000 26<e<280000



